
Additional Foglight 
R1150GS/ Adventure

October 2002

Parts included: 
1 x fog headlight including �
     cables and connection port 
1 x bracket 
2 x washer M5 small
 2 x washer M5 large 
2 x caphead screw M5x20 
2 x caphead screw M6x12 
2 x caphead screw M6x16 
4 x washer M6 small 

01-040-2001-0

Assembly of the headlight: 
First you must bolt the fog headlight unit to the provided 
bracket with two caphead M6x12 screws and washers. 
Now screw the light and bracket onto the front support at 
the right on the original fender attachments with two 
caphead M5x20 screws and washers. Put two small M5 
washers between bracket and fender. Screw connections 
together loosely, the headlight adjustment is done with
these later.(Photo 1) 

1

Electrical connection: 
Remove seat and tank. Install the relay with the cable 
straps to the frame. (Photo 2) Pull the brown cable to 
the negative post of the battery and shorten it 
accordingly. Do not attach the provided round eye 
adapter to the battery yet. Bring the blue and red cable 
to the headlight and the toggle switch to the handlebar. 
Bring the yellow cable to the connection plugs on the 
frame. (Photo 3) Shorten the cable to suitable length and 
crimp it with the provided cable connector to the 
blue/gray cable coming from the smaller black box. 
The cable must be in the plug completely to connect. 

2

3

Perform all electrical work with ignition �
switched off and the battery disconnected!! 

TOURATECHTOURATECH
TOU R A TECHRING   ALLYE   R CING    NOLOGY

This guidance is written after our present level of knowledge.   Legal requirements on correctness do not exist.   Technical subject to change.   



Additional Foglight
R1150GS/ Adventure

 October 2002

01-040-2001-0
Electrical connection: Bring the switch to the handlebar 
and install it at the left side directly beside the clutch �
perch with the provided clamp, two caphead screws 
M4x10 and two nuts M4. Adjust the switch so that it 
can be flipped vertically. (Photo 4)

4

 Shorten the blue and red cable to correct lengths and pull 
them through the two paths planned for them to the lower 
part of the foglight rear cover. Attach the provided flat pins 
to the cables. Plug the blue cable into the foglight on the 
outside right.  This is the ground wire.
Attach the red cable directly at the light. (Photo 5) Bring the 
cover over the foglight. Attach the battery and the ground 
wire of the foglight.  

 With parking light on the foglight should be able to 
be switched on now. Align the foglight and tighten all bolts. 
Screw the headlights onto the screen with the LiKo M6x10. 
Fix the lines with cable straps. 

Pay attention that the cables cannot be severed or squeezed
and are routed so that parts do not overheat. Secure all 
cables with cable straps, install tank cover and seat. The 
auxiliary headlight can be aligned by easily shifting it in the 
slotted hole in the mount. 

5

TOURATECHTOURATECH
TOU R A TECHRING   ALLYE   R CING    NOLOGY

This guidance is written after our present level of knowledge.   Legal requirements on correctness do not exist.   Technical subject to change.   


